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Fixmasse:	
L1 = 3.5m
L2 = 7m
L3 = 5.25m

g: Ständige Last
L1: kleine Tone
L2: grosse Tonne
L3: mittlere Tonne

f1: kleinste Stichhöhe
f2: grösste Stichhöhe
f3: mittlere Stichhöhe
H: Gewölbeschub

𝐻𝐻 = 𝑔𝑔 ∙ 𝐿𝐿1
2

8 ∙ 𝑓𝑓1
= 𝑔𝑔 ∙ 𝐿𝐿2

2

8 ∙ 𝑓𝑓2
= 𝑔𝑔 ∙ 𝐿𝐿3

2

8 ∙ 𝑓𝑓3
 

 
𝑔𝑔 ∙ 𝐿𝐿1

2

8 ∙ 𝑓𝑓1
=  𝑔𝑔 ∙ 𝐿𝐿2

2

8 ∙ 𝑓𝑓2
= 𝑔𝑔 ∙ 𝐿𝐿3

2

8 ∙ 𝑓𝑓3
→  𝐿𝐿1

2

𝑓𝑓1
=  𝐿𝐿2

2

𝑓𝑓2
= 𝐿𝐿3

2

𝑓𝑓3
  

 
Versuch 1 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙3𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙3𝑚𝑚

49𝑚𝑚2 = 0.75𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙3𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙3𝑚𝑚

49𝑚𝑚2 = 1.6875𝑚𝑚  

 
Versuch 2 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙2.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙2.5𝑚𝑚

49𝑚𝑚2 = 0.625𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙2.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙2.5𝑚𝑚

49𝑚𝑚2 = 1.4𝑚𝑚  

 
Versuch 3 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙2𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙2𝑚𝑚

49𝑚𝑚2 = 0.5𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙2𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙2𝑚𝑚

49𝑚𝑚2 = 1.125𝑚𝑚  

 
Versuch 4 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙1.5𝑚𝑚

49𝑚𝑚2 = 0.375𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙1.5𝑚𝑚

49𝑚𝑚2 = 0.84375𝑚𝑚  

 
 
Versuch 5 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙1𝑚𝑚

49𝑚𝑚2 = 0.25𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙1𝑚𝑚

49𝑚𝑚2 = 0.5625𝑚𝑚  

 
 
Versuch 6 

𝐻𝐻 = 𝑔𝑔 ∙ 𝐿𝐿1
2

8 ∙ 𝑓𝑓1
= 𝑔𝑔 ∙ 𝐿𝐿2

2

8 ∙ 𝑓𝑓2
= 𝑔𝑔 ∙ 𝐿𝐿3

2

8 ∙ 𝑓𝑓3
 

 
𝑔𝑔 ∙ 𝐿𝐿1

2

8 ∙ 𝑓𝑓1
=  𝑔𝑔 ∙ 𝐿𝐿2

2

8 ∙ 𝑓𝑓2
= 𝑔𝑔 ∙ 𝐿𝐿3

2

8 ∙ 𝑓𝑓3
→  𝐿𝐿1

2

𝑓𝑓1
=  𝐿𝐿2

2

𝑓𝑓2
= 𝐿𝐿3

2

𝑓𝑓3
  

 
Versuch 1 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙3𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙3𝑚𝑚

49𝑚𝑚2 = 0.75𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙3𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙3𝑚𝑚

49𝑚𝑚2 = 1.6875𝑚𝑚  

 
Versuch 2 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙2.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙2.5𝑚𝑚

49𝑚𝑚2 = 0.625𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙2.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙2.5𝑚𝑚

49𝑚𝑚2 = 1.4𝑚𝑚  

 
Versuch 3 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙2𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙2𝑚𝑚

49𝑚𝑚2 = 0.5𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙2𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙2𝑚𝑚

49𝑚𝑚2 = 1.125𝑚𝑚  

 
Versuch 4 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙1.5𝑚𝑚

49𝑚𝑚2 = 0.375𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙1.5𝑚𝑚

49𝑚𝑚2 = 0.84375𝑚𝑚  

 
 
Versuch 5 
 

𝑓𝑓1 = 𝐿𝐿1
2∙𝑓𝑓2
𝐿𝐿2

2 = 3,5𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 12.25𝑚𝑚2∙1𝑚𝑚

49𝑚𝑚2 = 0.25𝑚𝑚  

 

𝑓𝑓3 = 𝐿𝐿3
2∙𝑓𝑓2
𝐿𝐿2

2 = 5.25𝑚𝑚2 ∙1.5𝑚𝑚
7𝑚𝑚2 = 27.5625𝑚𝑚2∙1𝑚𝑚

49𝑚𝑚2 = 0.5625𝑚𝑚  

 
 
Versuch 6 

Untersuchung 1
L1 = 3.5m
L2 = 7m
L3 = 5.25m

f1 = 0m < f1 < f3f2 = 3m
f3 = f1 < f3 < f2

Kontrolle
f1 = 0m < 0.75m < 1.6875m
f2 = 1.6875m < 3m = 3m
f3 = 0.75m < 1.6875m < 3m

Grafik

Untersuchung 2
L1 = 3.5m
L2 = 7m
L3 = 5.25m

f1 = 0m < f1 < f3f2 = 2.5m
f3 = f1 < f3 < f2
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